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Cluster: 0188 ptr; resid: 0.15; r/c: 20/78

x.range

upstream meme PSSM #1; e=2.9e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=2.5e+05

1 3 5 7 9 111 3 5 7 9
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1833745434

26813

32202

41721

46333

12732

13261

21388

34093

34747

34933

45306

46281

46394

46438

46599

49082

49304 54590

string −500 −400 −300 −200 −100 −1
41721−0.06
32202−0.15
21388−0.46
13261−0.81
18337−0.85
45434−1.11
46281−1.13
34747−1.49
46438−1.56
34933−1.74
54590−1.76
46333−1.93
46394−2.07
34093−3.25
49304−3.94
45306−4.99
26813−5.49
49082−5.93
46599−9.03
12732−9.39

log10(P) upstream meme1 2 log10(P.clust)=−2.86; 20 seqs; 20 uniq
c(0.5, 2.5)
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